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Multiplikation - vertikal Name:
L 0se jede Aufgabe. Antworten
1) 41 2) 39 3) 29 4) 33
. 82 . 19 .15 . 13 "
2.
3.
4.
5) 36 6) 12 7) 16 8) 71
. 69 . 49 . 52 - 31 |°
6.
7.
8.
9) 41 10) 32 11) 35 12) 86
9.
« 78 « 76 - 53 « 89
10.
11.
12.
13) 36 14) 63 15) 52 16) 55
13.
« 54 « 76 .21 ¢« 69
14.
15.
16.
17 63 18) 34 19) 85 20) 65
17.
« 69 . 72 - 68 . 92
18.
19.
20.
1-10 {95|90(85(80| 75| 70| 65|60 |55|50
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Multiplikation - vertikal Name: L Osungsschliussel
L 6se jede Aufgabe. Antworten
1) 2) 3) 4)
41 39 29 33 . 3382
. 82 . 19 . 15 . 13
82 351 145 99 ) 741
+3.280 +390 +290 +330
3.362 741 435 429 3 435
. 429
5 6 7 8
) 36 ) 12 ) 16 ) 71 . 2 484
. 69 . 49 . 52 . 37
324 108 32 497 . 588
+2.160 + 480 +3800 +2.130
2.484 588 832 2627 7. 832
e 2627
9 10 11 12
) 41 ) 32 ) 35 ) 86 . 3198
. 78 . 76 .+ 53 . 89
328 192 105 774 o 2432
+2.870 +2.240 +1.750 +6.880
3.198 2.432 1.855 7.654 1. 1.855
»  7.654
13 14 15 16
) 36 ) 63 ) 52 ) 55 . 1944
. 54 . 76 .21 . 69
144 378 52 495 w 4788
+1.800 +4.410 +1.040 +3.300
1.944 4.788 1.092 3.795 15 1.092
6 3.795
17 18 19 20
) 63 ) 34 ) 85 ) 65 o 4347
. 69 . 72 . 68 . 92
567 68 680 130 s 2.448
+3.780 +2.380 +5.100 +5.850
4.347 2.448 5.780 5.980 9. 9.780
0. 5.980
1-10 195(90(85|80| 7570|6560 |55 |50
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